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<latexit sha1_base64="+kDN4lrzxmdaKYDGLDbFgB6Z5Lw="></latexit>

<latexit sha1_base64="j1ZsHe3bEB+IPimlMrYWM4a646w="></latexit>I

<latexit sha1_base64="Pn2FtTfRR5SK3lvM4cetjuOTeOI="></latexit>

h = 1 + "⇣

<latexit sha1_base64="Wy8Kan7N2NGKRf1EEZMZ3hG40Ic="></latexit>�1

<latexit sha1_base64="1vTg0o8FfoMTiBnFRINzThoT5D0="></latexit>

0

<latexit sha1_base64="tYLhhQquIm80udy/5rjHw5RpO9U="></latexit>zG,eq

�`

<latexit sha1_base64="Dg4S3EA3g+ixUOvpQN5HF+1Fkhc="></latexit>

+`

<latexit sha1_base64="VnJGTjHzFSYg/HCJzHn9OQ/RhMY="></latexit>

"⇣e,�

<latexit sha1_base64="TabW0JZB18dme1sxBZBYefjMlDc="></latexit>

"⇣i,�

<latexit sha1_base64="cskAFuTS1rdkGa9LcZXjlwarHfo="></latexit>

"⇣e

<latexit sha1_base64="MbdUjxHHTn0Lmict1Eb7OBfbw4g="></latexit>

"�

<latexit sha1_base64="29hSPbtjpT/jSlUkLjte/GGmNMs="></latexit>

<latexit sha1_base64="XzcsbZfDKeQrXi3EXgG1R2Jl+8w="></latexit>

E+<latexit sha1_base64="ZumSzTCiUYIyqAqwapQfE5Sx89U="></latexit>
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